Fig: 1 5 1

Plastic Mounting template

TSRF Bt —

| AR AS2125
= ovER HaxG -

- === Position of armbase
RS212D

F—LAR—R{IE

Turntable Spindle

Guide pin
HAREY

Armbase template sheet

Arm Board

SPECIFICATIONS AS-212S (short arm) || AS-2125 FHiE
Effective length : -
o (from the tonearm pivot to the stylus) 229mm | Hik e
(from the tonearm pivot to the spindle) 214mm | (h—>7 — LEMREN & E | 5E FTORERE) 214mm
Overhang  (from the spindle and the stylus) 15mm (=27 — L[EMEEI S AL RV E T ORRRE) 5 o
) Offset angle (between a groove and the stylus direction) 22 | A s N T (AR DR ET OREHE QLZan
= Tracking force adjusting range (direct reading) 0-3¢g | AT T (TR ) 6 i
£ Height adjustment range 35 mm = 55 mm ‘ e pEeE) s ilii] - g o
i‘ Diameter of the armbase mounting hole g]mm =20 mm ﬁéﬁfﬁﬁﬁ@ ) 1; e o 2l
: Diameter of the center shaft Stgm ‘ T—A/\‘-}(H}(H/\@ o 11181m o
-5 T b7 bR mm
.
[ ]
' i
|| As-3095 {Lkk
[ | ‘ SPECIFICATIONS AS-309S (long arm) | | AS-309S fHE
OPTION WEIGHT Y, WAVZ- Wyl i | Effective length HEE
. | (from the tonearm pivot and the stylus) 326mm | | (f—2r 7 — WNEWEEA BB 5 T O REHE) 5326”"“

. Type C (AS-2125) | (from the tonearm pivot to the spindle) 311mm [ | (h— 7 — AEHEE S A R L £ T OEEHE) 311mm
Cartridge + stylus : 26 g-38 ¢ | Overhang (from the spindle and the stylus) 15mm | A 2R N Y (AR B e E T O M 15mm
ARSI ILELH—N)UDER: 26g-38¢ L Offset angle (between a groove and the stylus direction) 19 L i AT T (B LR O ) 19

Tracking force adjusting range (direct reading) 0-3¢ | S A B 0-3¢

| Type D (AS-309S) | Height adjustment range 35 mm - 55 mm | X R 35 mm - 55 mm
| Cartridge + stylus : 26 g -38 Diameter of the armbase mounting hole 19 mm - 20 mm T L R TR 19 mm - 20 mm
‘ £ Y £ & ®18 mm @18 mm
o AYRYILED ARy ER: 26g-38¢g Diameter of the center shaft T b v 7 ME
4 !

Ortofon A/S Stavangervey 9, 4900 Nakskov, Denmark FIbTry vk EH TU-00M4RRMIXARES 2-2-6

Phone + 4554 91 19 15 Telefax: + 4554 911 9 11 Phone + 81 3-3818-5243 Telefax: + 81 3-3818-5899

Ofo STATIC BALANCE TYPE TONEARM

Instruction Manual B4R 5 BH 2 Model: AS-212S
AS-309S



HOW TO MOUNT TONEARM (Ref: Fig 1)

1. Place the spindle hole of the plastic (armbase locating) template onto the turntable
spindle and determine the position of the arm base as shown in the Fig.1.

2. Place the paper armbase template right under the hole marked “AS212S or AS309S

3. Insert the guide pin through the hole and into the center of the paper armbase
template and make a pin mark on the board. AS212S or AS309S.

4. Holding onto the armbase template at that position and make 3 screw hole markings
on the board.

5. Drill a hole for the arm shaft. (19mm — 20mm diameter) and 3 holes for the base
mounting screws (3.5mm for short M3 screws, 2mm for wood screws.) If necessary
adjust the screw hole size that may vary depending on the density/hardness of the
board.

6. Mount the arm base with 3 mounting screws on the board.

7. Place the tonearm shaft into the armbase hole, hold the shaft at the desired height,

and tighten the M4 set screw with allen (Hexagonal) wrench.

”

b7 — OO T 7 (K 12288)

T FGAF 4 T RO — PO
1. FIGARF ORI — D" Spindle” DR &L — 2T — 7 ILOAL R ATIEA,
TR — P OAMOAS-212S LITAS-309SD AT H AR %AFAL .
FERENTIRAL N T — L= AR O WML &2,
T A= R R OEE 7
L. 7= L= AR O T UL T ARE L ORE Tl RifkE v b5,
BMEBL TT — AN —2AOPUALEIME T AR TFIRICe =% 755,
FIRFIC AR A B L T — AT O3B0 AL ES TS~ —F 715,
2. T—A vy 7 OEOHF I O 19mm - 20mm ZBAIT 5,
3. R=ABEDTF UL FMATAE O 3,5mm, KQUZE O 2mmE{FiT5,
R —R ORI BT R ITFRE LTI E,
b7 — DO AT
1 7 =Ly 7he =2 AL, N—RFAOMADFE 20 % KAV T TREO 1T 5,

CONTENTS OF PACKAGE LEBOTORE
. TRy I ———— 1 T TR cereraieieaii i 3
X Tonearm 1 x Tonearm cable, b /z, A 7‘%{1{» 1 \'szﬂ ./j;lén//‘/;f‘ (FT—i_—2[4) - 1
xX) T amearm bace 1 x Plastic Mounting template }]:'“/;Hj ;;; 7 """"" 1 ;;%{ﬁg?:ﬁll/‘/‘)‘ (T—pY74—H) --- :
3 -—-:/—'-—- N — Jb e ] NS [ A
X Flat M3 screw ) SIS TG AT YRS — 5 e ereannnan 3 T A= AR e 1
30 FlaE Washer 3 x Wood screw % i 3 Fr b eeeceesiiietotiiinias 5 3
i TIARMFY 3 x20mm ------- 1 Feng O e e e e h Bt 1
1 X Hexagonal wrench for M5 screw 1 x Hexagonal wrench for M3 arm lifter A SRl S MR T R TR R R e
1% Guide pin 1 x Template sheet for tonearm mounting HORBEAgE - cocvereernroocnsan
1 X Instruction
% 2

Fig: 2

Finger

——— Horizontal balance —

Turntable

Tonearm pipe Arm rest

Stylus pressure adjustment ring

Antiskating

(|
Pl -

Counter weight

M4 screw

Arm bace

Armlift lever

ADJUSTMENT OF TONEARM HORIZONTAL BALANCE/ STYLUS PRESSURE
(Ref: Fig 2)

Horizontal balance
1: Mount the shell/cartridge onto tonearm.
The shell/cartridge with the total weight of 18 g — 28 g can be used for both
AS-212S and AS-309S.
2: Adjust the rear tonearm counter weight by turning it until the tonearm floats approximately
parallel/horizontal to the turntable and the baseboard.

Stylus pressure
1. Turn the stylus pressure adjustment ring to “0”.
2. Move the counter weight forward by turning it until its indicator points the recommended
stylus pressure.
Height of Stylus tip
1. Set the tip of the stylus 5-10mm above the vinyl record surface when the tone arm is
lifted up.

Caution:
Do NOT remove any screw on the tonearm assembly. They are factory assembled to the exact

specifications. Any tinkering of the tonearm could result in its malfunctioning.

F—2 7= ADAENRT R /GHEOTIE (K 2 221R)

K ST A
1. b= 7 =L vxb & h—RIPEEFET D, (AS-212S, AS-309S @
FHRBOIDH = A AR U0 T — Ry e~y R x U F OB EEN
18g-28g OFEHHETHLHLOAEF AIEETY)
2. WY =G ANEIER LIt EESHTC, b7 = AR — T =TV EKIFET
TR BRI EREE 5,
FHE R
1. g B— 0 A RDOFRBIAFTOTWOAEEFE R KR 70 "lcdhih s,
2. BB T A N RERERU AL ETES T, FTEOSHE 35,
AR AT AT T O E S
1. La—RERNDEHEERYT R v 7 L0 5O X 5Smm - 10mm
BEICHELTTaN,

h—2 7 = DEFR AL T THLETORTE NS N TS W, B Rogc
AL TOHNTOETOTEMERBOFERIZARDE T,

ANTI SKATING FORCE
When a vinyl record spins the stylus riding in the groove is pulled in toward the center of the
vinyl, causing a greater stylus pressure against the outside wall of the groove than against
the inside wall. In order to counter this pressure an anti—skating mechanism is incorporated
in the tonearm. It is calibrated from O to 5g in 0.5g increment corresponding with the same

T F R =TT
La—ROEERIEEHI RO S Z LA La—ROBREBREGZ G Ch— T — L%
LES, T F ARy —T 7R 1 &S O N1 fil LEt @& a7
{RHEY, BEIT0~5FETT, —B0.5gic 2> ThkhES, (AL IRBUCIVBEIESR
DO ET O THEEBTHIEL TS, G2 ITLINATE A TOBIRHT 22 0HIC




